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Ejercicio 7

Efectia los productos y simplifica cuando sea posible (trabaja en
linea):

a) (C%x2 +x—2)(x2+3x—1):3x“+9x3—3x2 + X343 —Xx—2X* —6X+2 4

=[3x* +10x3 —2x® = 7x+2

b) (3x—4)(2x*+2x~5)=|6x" —2x* —23x +20

c) (7x®—5x+2)(2x" +5x—1)=[14x° +35x‘ ~17x° — 21x* +15x—2

d) (x=2)(x+2)(x—3)=[x’—3x" —4x+12

e) (4x3 —2x° +x—1)(x2 +3) =4x° —2x* +13x3 —7x* +3x -3

Ejercicio 8
Resuelve las siguientes divisiones:
3abc’ 1
a) (3abc®):(12ab*c®)= ==
) )i ) 12ab*c® |4b
3 2 5 2
b) 25X zlz _|PXz
oXy“z y
c) ():(n)= 0|
' m’-n |m
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d)

e)

f)

9)

5X 2.2 5X 5
= i(x%2%) == =

( 2) ( ) 2x%2*  |2x2°
3v’a’ b

6ba’ |2a

15x°%y  |3x?

5xy?z® |yz®

14x%y°z*

2y2 = 2%’z
X°y°z
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